[image: image1.jpg]3.47 Rework Prob. 3.19 using mesh analysis.
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” { ,49 Determine the current through the 10-k() resistor in
% the circuit of Fig. 3.93 using mesh analysis.
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For Prob. 3.48.
3.49 Find v, and i, in the circuit of Fig. 3.94.
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i 3.51 /Apply mesh analysis to find v,, in the circuit of

Fig. 3.96.
5A 90\/
2Q y, 8Q
1Q
§ 40 20V
40V
Figure 3.96

For Prob. 3.51.

Use mesh analysis to find #,, i5, and /5 in the circuit
of Fig. 3.97.
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Figure 3.97
For Prob. 3.52.

3.53 Find the mesh currents in the circuit of Fig. 3.98
1 using MATLAB.
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For Prob. 3.53.
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.54 Find the mesh currents i, i,, and i5 in the circuit of
Fig. 3.99.
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For Prob. 3.54.

*#3.55 In the circuit of Fig. 3.100, solve for I, I,, and I5.
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For Prob. 3.55.

3.56 Determine v, and v, in the circuit of Fig. 3.101.

Figure 3.101
For Prob. 3.56.

@n the circuit of Fig. 3.102, find the values of R, V,

and V, given that i, = 18 mA.
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For Prob. 3.57.

3.58 Find iy, i5, and i5 in the circuit of Fig. 3.103,
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For Prob. 3.58.

3.59 Rework Prob. 3.30 using mesh analysis.
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(%.60 ’Calculate the power dissipated in each resistor in the
circuit of Fig. 3.104.
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For Prob. 3.60. or Prob.
3.65 1
3
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3.61 [Calculate the current gain i,/i, in the circuit of
(J Fig. 3.105.
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For Prob. 3.61. For Prot




